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Time: 30 minutes Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. If your information on the pre-printed label is not correct,
please inform the invigilator immediately.

3. For each question, you will be asked to choose one option
from the list. Use a pencil to circle ONE answer only.

4. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

5. Diagrams in this question booklet are not necessarily drawn
to scale.
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1) 2+6E&1? [3.8%]
Whatis2 + 6 ?
A 2 4 © 6
D 7 (E) 8

2) EH—EEEERAHE. [3.9%]

Count the number of apples on the trees.
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3) 12-3 2%/»? [4%]
Whatis 12 -3 ?

® 15 (B) 12 © 10
D 9 GF:

4) H—HEFZDER. [4.1%)]

Count the number of legs.
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5) MI—{&RiFEERIREIZK? [4.2%]
Which route is the fastest to be home?
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6) (O)+8=15.()=RsD? [4.3%]
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7) EHIEATREE. [4.4%)]

Count the number of squares in the figure.

------------------------------------------------------------
*

s AN \\
; vV~
- O g L
Sl
TTTT i
@A) 5 (B) 6 © 7
@ 8 ® 9
8) IRIFMME, IKHERLHIEF. [4.5%]

Find the missing number.

5,8,11,14, ? ,20,23, 26

A) 15 (B) 16 ©) 17
(D) 18 (E) 19
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9) /MEAFE 7 EER. 6 EHM 5 AER. frzT  [4.6%]
2 FIHERIZ, BRI B DEKR?

Tom has 7 apples, 6 oranges and 5 candies.
After eating 2 candies, how many fruits does

he still have?

@) 3 5 © 13
(D) 16 (E) 18
10) RIFME, HHRENER. [4.7%]

Find the missing shape.
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1) EMHNTREES >0 [ [4.8%]
How many [ should be used to build the solid
below?

@A) 10 11 © 12
(D) 13 (E) 14
12) S X2E2H8H. 15 RE2EH%? [4.9%]

Today is Sunday. Which day of the week is it
after 15 days?

EHI— EHIT EH=
@ Monday Tuesday @ Wednesday
EHAY EHR EHR/S
@ Thursday @ Friday @ Saturday
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13) UTH—EZEEETHNEEE [ TEFE—/N [5%]
Fig | ?
Which of the following shows the time of
“one hour after half past ten”?
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14) NBSE 5 5%, MEFFLMA 3. 45, [5.1%]
TP LT PN

Tom is 5 years old. His brother is 3 years

older than him. After 4 years, what is the
sum of their ages?

®) 12 ® 15 ©) 18
(D) 20 (E) 21

15) /NERFE BRI —FEE XK

[5.2%)]
Which view will Tom see?
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16) HERIERIE S [6.3%]

Find the missing shape.

XX
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17) B~E&A(DAZA. B. C. D, EMF)IE#LE [6.4%]
HEPX. DHEZEE CZ BT, WHEE AZ1E. EHE
EDZE, iH&E CzH. 241 B HE—
mMB FHR%E. R EHFE 4412

Six fish, A, B, C, D, E and F are lining up. D
iIs in front of C and behind A. E is behind D
and in front of C. It is given that B is the first
and F is the last in the line. Which place is E
in the line?

E—fr Efr BE=4I
@ 1st 2nd @ 3rd

@ EI%PIH_L @ %EELL @ ?}h/—\ﬁ

P10
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18) [6.5%]
O+ O =10
O+<)=9

-2
® 5 6 © 7
D 8 ® 9 ® 10
19) BRILATEZE. [6.6%]

Solve the following puzzle.

9 2 2 7
@ 0 ® © 2
@3 ® 4 ® s

P11
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20) 5 FHT, /MEAFIISISHEEE 25 %K. 5 &%, M [6.7%]
SIS S 63 k. B/NASFEER?

5 years ago, the difference between Tom’s
age and his mom’s age was 25 years. 5
years later, the sum of their ages will be 63
years. How old is Tom now?

® 5 OK: © 9
(D 10 (E) 14 P 18
(@ 23 (H) 24 (D) 33

£H5%
End of paper

P12
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